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Intangible Dependent Independent Dependent Independent
Example: Website. Example: Smartphone. Example: Car. Example: Pizzeria oven. Example: Commercial real estate.
) ) *Does not change when its *Does not change when its *Changes when its physical *Changes when its physical
eCan be prOV|ded without physical position changes. physical position changes. position changes position changes
necessar”y having a *Can only be provided when *Can be provided almost *Can only be provided when *Can be provided almost
. . combined with other tangible independently of other combined with other tangible independently of other
phySK:aI eVIdence. artifacts. tangibleartifacts. artifacts. tangible artifacts.
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Separable Inseparable Movable Immovable
Example: Call Center. Example: Ophthalmologist Example: Bicycle. Example: House.
Servi
eCan be performed without O O eCan only be performed by e eDoes not change when its O O eDoes change when its
having the beneficiary/ies having the beneficiary/ies physical position changes. physical position changes.

Beneficiary

in the same physical space. present in the same physical
space.
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Simultaneous Not Simultaneous Simultaneous Not Simultaneous
Example: Screwdriver.
Example: Video Call. Example: Movie. Example: Dermatologist. Example: Blood test. C | b d
o N Oon roVi
*Performed without having *Can be performed without eCan only be performed by *Can only be performed dn o y = p O eC
the beneficiary/ies present having the beneficiary/ies having the beneficiary/ies by having the beneficiary/ies th roug h phyS|Ca| eviadence.
in the same physical space. in the same physical space present in the same physical present in the same physical space
*Can only exist if the eCan exist or occur without Y 4 *Can exist without the beneficiary/ies
beneficiary/ies exist or occur  the beneficiary/ies being *Can only exist if the being or occurring at the same time
in the same time frame. or occurring in the same time beneficiary/ies exist or occur as the services.
frame. at the same time as the
services.

[I Homogeneous [I Heterogeneous

Example: Hair Dresser Example:Bloodtest.
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InStrUCtlons *Does not change «Changes according to

1- Define what will be the Service and the Beneficiary. Write down the decided service according to different different beneficiaries.
and the beneficiary in the middle area. beneficiaries.

2 - Decide if the opportunity will be tangible or intangible.

3 - Decide the second term's layer for this opportunity. Could Be movable/immovable for
Tangibles and separable/inseparable for Intangibles. D Perishable

I:I Non Perishable

Example: Meet and Greet Example: Gold, Retirement.

tickets. «Can be performed during
«Can only be performed during an indefinite amount of time.

: - : ] a determinate and short period
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4 - Decide the third layer of terms, could be Dependent/Independent for Tangible oppor-
tunities and Simultaneous/Not simultaneous for Intangible opportunities.

5- Decide the last layers of terms, closing between Independent/Dependent and Perisha-
ble/Non Perishable for any opportunity generated.




